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QUESTION 1

What indicates an artifact instance in UML notation? (Choose two)
A. memo box

B. keyword

C. syntactically well-formed file name

D. single sheet icon with a folded-over corner

E. class box with two smaller rectangles on its left side

Correct Answer: BD

QUESTION 2

What is true for part decomposition in interaction diagrams?

A. always refers to methods of the decomposed lifeline

B. must match the constructs of the decomposed lifeline

C. cannot be reused as decomposition from another lifeline

D. must always be owned by the same interaction as the decomposed lifeline

Correct Answer: B

QUESTION 3

What does a state list represent?

A. notational shorthand for a set of states

B. list of the substates of a composite state

C. set of states that share a single outgoing transition

D. set of states that share the same entry and exit actions

Correct Answer: A

QUESTION 4

What is implied when a transition terminates on the outer border of a composite state that has an initial and a history
pseudostate?
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A. The state is not entered.

B. The outgoing transition from the final pseudostate is taken.
C. The outgoing transition from the initial pseudostate is taken.
D. The outgoing transition from the history pseudostate is taken.

Correct Answer: C

QUESTION 5

What does a structured node contain? (Choose two)
A. edges

B. states

C. nodes

D. lifelines

E. classes

F. messages

Correct Answer: AC
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